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Depreciation 

Usually fixed assets are expected to be used for more than one year. 

Therefore, the depreciable amount of a fixed asset is allocated over its useful 

life. The amount allocated to a particular accounting period is called 

depreciation. Thus, depreciation is the systematic allocation of the 

depreciable amount of an asset over its useful life. The depreciable amount 

of an asset is the cost of an asset less its residual value. 

Example 

The policy of Akash Ltd. Is to keep company vehicles for 5 years. It has 

just bought new equipment for Rs. 30000. Today’s market price, less selling 

cost, of a similar equipment that is 5 years old is Rs. 9000, which is a 

reasonable estimate of the residual value of the new equipment. Calculate 

a. Depreciable amount 

b. Annual depreciation charge 

Solution 

a. Depreciable amount 30000 minus 9000 = 21000 

b. Annual depreciation 21000/5 years = 4200 

Depreciation of revalued asset 

In case of revaluation, the depreciation is calculated on the total revalued 

amount over a period of balance useful lives assessed on the date of revaluation. 
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New cost for the purpose of depreciation will be gross cost less accumulated 

depreciation on the date of revaluation. Along with this, the revaluation reserve 

is amortised to the income statement based on the useful life of the asset to 

which it relates. This is done to ensure that depreciation on the revalued 

amounts shouldn’t inflate/ deflate the income statement. 

Example: 

Shine ltd purchased an asset for Rs. 60000 at the beginning of 2014. It had a 

useful life of 5 years. On Ist January 2016, the asset was revalued to Rs 75000. 

The expected useful life has remained unchanged. Show how revaluation is 

accounted. Also state the treatment for depreciation from 2016 onwards. 

 

 

 



 

  DEPARTMENT  OF  COMMERCE       BY: DR. SHAILESH KR. SI 

        D.B. COLLEGE, JAYNAGAR                                                                                                  
    LALIT NARAYANA MITHILA UNIVERSITY, DARBHANGA (BIHAR)    

                                                 
 

 
 

CORPORATE ACCOUNTING 

BY: DR. SHAILESH KR. SINGH                   
ASSISTANT PROFESSOR (GUEST) 



 

  DEPARTMENT  OF  COMMERCE       BY: DR. SHAILESH KR. SI 

        D.B. COLLEGE, JAYNAGAR                                                                                                  
    LALIT NARAYANA MITHILA UNIVERSITY, DARBHANGA (BIHAR)    

                                                 
 
 

 
 

CORPORATE ACCOUNTING 

BY: DR. SHAILESH KR. SINGH                   
ASSISTANT PROFESSOR (GUEST) 



 
 

 

 


